

$$A = 180^\circ - (B + C) = 180^\circ - 120^\circ = 60^\circ \rightarrow \hat{A}$$

$$\frac{BC}{\sin A} = \frac{AC}{\sin B} \rightarrow \frac{r_0}{\sin 40^\circ} = \frac{r_0 \sqrt{4}}{\sin B} \rightarrow \sin B = \frac{1}{r} \rightarrow \boxed{\hat{B} = 30^\circ} \quad \boxed{\hat{C} = 180^\circ - 120^\circ = 60^\circ}$$

$$\frac{r\sqrt{r}}{\sin 20^\circ} = \frac{AC}{\sin 40^\circ} \rightarrow \frac{r\sqrt{r}}{\frac{1}{\sqrt{r}}} = \frac{AC}{\frac{\sqrt{r}}{r}} \rightarrow AC = r\sqrt{r}$$

$$\frac{r\sqrt{r}}{\sin 90^\circ} = \frac{x}{\sin 40^\circ} \rightarrow \frac{r\sqrt{r}}{1} = \frac{x}{\frac{\sqrt{r}}{r}} \rightarrow x = \frac{\sqrt{r}}{r} \times r\sqrt{r} = r$$

$$\frac{b}{\sin B} = \frac{c}{\sin C} \Rightarrow c = b \frac{\sin C}{\sin B} \quad \sim (b^r - r) \frac{\sin C}{\sin B} = b \frac{\sin C}{\sin B}$$

$$\rightarrow b^r - r = b \rightarrow b^r - b - r = 0 \rightarrow (b - r)(b + 1) = 0$$

$$\begin{array}{c} \text{✓} \textcircled{r} \\ \text{✓} \textcircled{b} \\ \text{✓} \textcircled{1} \\ \text{✓} \textcircled{0} \end{array}$$

$$b^r = a^r + c^r - 2ac \cos B$$

$$a = BC = r_1 \quad c = AB = r_0 \quad b = AC = r$$

$$\xrightarrow{\text{مقابلہ}} (1\sqrt{r})^r = (r_1)^r + (r_0)^r - 2(r_1)(r_0) \cos B$$

$$\rightarrow \cos B = 0.12$$

$$\sin B = \sqrt{1 - \cos^2 B} = \sqrt{1 - 0.0144} = 0.99 \leftarrow$$

$$a^r = b^r + c^r - 2bc \cos A \rightarrow a^r = (r^r) + (r(1+\sqrt{r}))^r - 2(r)(r(1+\sqrt{r})) \cos 40^\circ$$

$$\rightarrow a = \sqrt{r^2} = r\sqrt{4}$$

$$\frac{a}{\sin A} = \frac{b}{\sin B} = \frac{c}{\sin C} \rightarrow \frac{r\sqrt{4}}{\sin 40^\circ} = \frac{x}{\sin B} \rightarrow \sin B = \frac{\sqrt{r}}{r} \rightarrow \boxed{\hat{B} = 20^\circ} \rightarrow \boxed{\hat{C} = 180^\circ - (40^\circ + 20^\circ) = 120^\circ}$$

$$BC^2 = AB^2 + AC^2 - 2(AB)(AC)\cos A$$

$$\rightarrow BC^2 = (1)^2 + (\omega)^2 - 2(1)(\omega)\cos 4. \rightarrow \boxed{BC = \sqrt{1 + \omega^2 - 2\omega\cos 4}}$$

(الف) ⑦

$$S = \frac{1}{2} ab \sin C \rightarrow \frac{1}{2} (AB)(AC) \sin A \rightarrow \frac{1}{2} (1)(\omega) \sin 4 = \boxed{10\sqrt{\mu}} \quad (ب)$$

$$a^2 = b^2 + c^2 - 2bc \cos A \xrightarrow{\text{substitution}} (b+c)^2 - a^2 = (b^2 + 2b + c^2) - (b^2 + c^2 - 2bc \cos A)$$

⑧

$$\rightarrow \frac{2bc(1 + \cos A)}{b(c(\cos A + 1))} = \boxed{1}$$

$$a^2 + b^2 - c^2 = a^2(a+b-c) \rightarrow a^2 + b^2 - c^2 = a^2 + a^2b - a^2c$$

$$\rightarrow (b-c)(b^2 + bc + c^2) = a^2(b-c) \rightarrow b^2 + bc + c^2 = a^2$$

⑨

$$\text{O.K.} \rightarrow a^2 = b^2 + c^2 - 2bc \cos A \rightarrow b^2 + c^2 - 2bc \cos A = b^2 + bc + c^2$$

$$\boxed{A = 120^\circ} \quad \text{C.O.P.} \leftarrow \cos A = -\frac{1}{2}$$

$$a^2 = AB^2 + AC^2 - 2(AB)(AC)\cos A$$

⑩

$$a^2 = (1 - \cos \theta)^2 + (1 + \cos \theta)^2 - 2(1 - \cos \theta)(1 + \cos \theta)\sqrt{\frac{1}{2}}$$

$$\rightarrow a^2 = 1 - 2\sqrt{1/2} + 1 + 2\sqrt{1/2} \cos \theta + (1 + 2\sqrt{1/2})\cos^2 \theta$$

$$S = \frac{1}{2} (AB)(AC) \sin A = 1 \rightarrow \frac{1}{2} (1 - \cos \theta)(1 + \cos \theta) = 1 \rightarrow \cos \theta = 1$$

$$\boxed{a^2 = 10 - 4\sqrt{10}}$$